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}

Node *insert_maintain(Node *root) {
if (!hasRedChild(root)) return root;
if (root->lchild->color == RED && root->rchild->color == RELS™% -
if ('hasRedChild(root->1child) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;
}
if (root->lchild->color == RED) {
if (!hasRedChild(root->1child)) return root;

} else {
if (!hasRedChild(rootl>rchild)) return root;

—PEIE L NBEER

62

if (root == NIL) return getNewNode(key),
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}

Node *insert_maintain(Node *root) {
if (!hasRedChild(root)) return root;
if (root->lchild->color == RED && root->rchild->color == RELS™% -
if ('hasRedChild(root->1child) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;
}
if (root->lchild->color == RED) {
if (!hasRedChild(root->1child)) return root;

} else {
if (!hasRedChild(rootl>rchild)) return root;
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if (root == NIL) return getNewNode(key),
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}

Node *insert_maintain(Node *root) {
if (!hasRedChild(root)) return root;
if (root->lchild->color == RED && root->rchild->color == RELS™% -
if ('hasRedChild(root->1child) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;
}
if (root->lchild->color == RED) {
if (!hasRedChild(root->1child)) return root;

} else {
if (!hasRedChild(rootl>rchild)) return root;

IRHER  NAEEX

62

if (root == NIL) return getNewNode(key),
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